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3.  Expend and simplify (243 -4)?
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Section One 4. The solutionto y*—-8=0 is
Multiple Choice
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Section Two

Question Five . (Start a new booklet)
—(3+7x3) -
a Evaluate —(——— correct to three significant figures. .1
® Yn-3.5
(b) Solve
x x-1

i Z-l=5 2

® 273

(i) 4% =8 2
(c) The cost of an iPod is $291.50 including 10% GST. 2

Find the price of the iPod without GST.

2
(d) Write without a fractional or negative index: (5—3x) 3 2
(e) Write 0.000:000155 1 in scientific notation correct to 4 significant figures. 1
()  Bvaluate |-3)+}2f ~10) 1
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Question Six (Start a new booklet)

(a) Simplify the following:

4x3y*
R
a-1
(b)  Find the value of m and » in the equation 5 = m+nv5.
J5-2
(c) Solve | x—4 | < 8 and graph the solution on a number line.
(d  Simplify
G  J50-+432
3 2
ii =
o [
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Question Seven (Start a new booklet)

(a) Express O.Si as a fraction in its simplest form.

(b)  Factorise the following:

G 84 -1

() 8a>-8

(i) 8a—8-ba+bh

(iv) 8a*-1l4a+3

© i ingle fraction: x—-y +
()  Write as a sing y 1y
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Question Eight (Start a new booklet)

a Solve
5 ®
@ 5x-12=13
ii 7-==3
(i) 3
2
1
@ity y*+3=5
2
(v) |h+2|=5r-3
2 .
™) (c+3)c-1)=32
2
(b)  Given the equation y =3+vx* -5, find the value of x when y=6.
1
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.. Solution

Q) 1) Sx-12=13
sr= 24
=9

H) T—2 <= 2
3
"‘2_':_:""(7"
]
A = |2

) j:c"/‘"ey- 3= 5

w2

(—xpﬁ—lf - ‘zlll “U‘ x

|6

Q.

& 0-5 | led 2= o-sitil
Ox=5-(111 —QO
ox =5 -1l —=D

D P
Jox = %¢
r=46 = 23
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DI
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W |ht2l=5h —3

hio = Sh-3 = ov

—(h+2) =Sh -3

W) Ko -8 — batb

.-—L{-[,\ = — g

—h-2 =gk -3

glo—() —b(a—1))

h = Sy
7

—bh = —

(o-~Y(8~b)

N
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W) Ba” — 1Hae3 SN
Za

=2

Only col? 1 h= 51,‘

= (to--N)(26.-3)

) (+3)(c-1) =32

C*r—C+2¢ -3= 32
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20 - 25 =O

C D

(e+r1)(e=5) =
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b= 3V -s
L= Vx=¢
4= x*= &

x= 9
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